(3) BREBIZESE (B : %)
e VY- B A3 A ET AL T A T AN T AET AL EG AR LT ARG LT AL AL ARG VR AE T VRE:
GHERISEE) | GHERT4EE) | GHESEE) | GrEf 2 £5) | GrERTEE) | GIEANEE) | GtES256E) | GHES3EE) | GIES4EE) | GrEESEE)
(REH|(REH|I(RE) | (RE) |GRERM
BEAEHE (%) (B18)
b ALV E (%) 68.9 67.5 96.1 67.5 96.1 91.2 95.6 98.7 99.9 99.6
#URZ He 3 GRE ) (%) 102.1 100.4 98.6 101.2 98.0 98.4 100.8 102.4 102.8 101.4
BEINEZ LR GEER) (%) 102.3 100.5 99.2 101.3 98.3 98.6 101.0 102.5 13.0 101.6
EEINKZLEEGEER) (%) 118.0 114.0 109.6 104.1 103.8 105.2 106.7 107.0 107.5 105.0
BREXELLERCGEER) (%) (B8) 1.5 3.8 24
IR R AOUR 3T LE 3 (3L 3@ ) (%) (FB8)
TREFLEERGEER) XX
FE R GEIEE ) (%) (B8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UREEBIUR A 53 (%) 46.9 46.4 46.6 49.3 451 438 427 415 40.7 40.4
SHEENZEAS (%) 24.7 22.7 23.6 22.7 40.2 35.3 34.7 34.1 34.0 34.3
i@ SHEENEAS (%) 222 23.7 23.1 26.6 5.0 85 8.0 7.4 6.7 6.1
A SEHEMAISH ETA=@BAZ (%)
= SERTHTAMELD (%)
I ERBRAS (%) 70 71 02 11 05 038 16 36 5.1 6.1
* SHEERNEASE (%) 6.9 7.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SHEENEAE (%) 0.1 0.1 0.2 1.1 05 0.8 1.6 36 5.1 6.1
SERFHTANEELED (%)
F1 LROBEEOEHAEICOVNTIE. ROEBYTHB &,

(1) BEETREE (%)
7 HANECELERACENGS=ARBERTSEIEE1BICLYEELE-ESDFRE (BEERE-FFIHNRE x100
1 HANECELFERACENGE=tARBEBITSENEE1BICLYEELE-ESDFRE/ (BEERE-FFIHNE x100
2) #8URZHE (%) =ik BLERAXx100
3) WEIZLLE (%) =RKRBENRE RBEEFE*x100
4) BERZLHE (%) = (BEERE-FEIBNRE)  (BEXEF-FRIEEH) x100
5) RIEXRELHE (%) =REXEL (BEERE-FFIZBNRE) x100
(6) UNIFAGUNZELER (%) =#UNEE (RERA+HAEEES) x100
() FREBLE(RIEFFLE) (%) =FREH (RIIEREFFTH) / (BEXEWF-FEIFEWE) x100
(8) BAELLE (%) =INHMIAICET 2hEHREAS (RIFEARMINAICET 2iHEAS) AINEMIRA (RITEARBIA) X100
2 LEEENSSH MHEHESEUE] (X, KEFEE (BEZKEFEFET) . IXEAKEFERVUTKEEE (TKEFZICH-> TIXEAHEINE) ITOWVTRERHET S &,
(1) KEFZE., IXRAKESHRICRIHBEENEOREEAZE
- BEEURE (%) =GB FHEKIRMX2x 100
X1 HREM (A m) =#HAKRE ERBEIKE (TERAKESZECH>TIIHEEEICRDILD)
X2 AKEM (A/m) = (BEERA- (SAIEE+MHERVUTASSHRM+MEEEE+ELERNBRAS KEBZ0HA))) /EHBERKE (TZRAKEBEZIZH>TIIHEEFIZEDILD)
BL., BEKESZIZODVTETRIZEZEDET S,
7 WAAELEZBALENGEE= BEEA- (RRIBE+-MHRCTIASEHNRE+HMHESEE+EENBGAL HRBENE) +0XEEES) ERAKEIUKE
4 WMANELEEZFEFEACENSEES= (REA- (ZRXIEB+EERNEAS) +HABEES) ERKREIVKE
(2) FKEFEICRIEAHNEINEOELAE
- ERAHEIRE (%) =FERHIIRABEKOLEEX 100
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